Choose the correct expression for each of the following word problem

(1)

(i1).

(iii).

(iv).

(V).

(vi1).

(vii).

(viii).

(ix).

(x).

Kevin removed 4 bananas from a jar. There were originally 54 bananas in the jar. How
many bananas are left in the jar?

(a) 4-54 (b) 544 (c)4+54 (d)54 -4 (e) 54 x4
Each child has 3 pencils. If there are 78 children, how many pencils are there in all?
(a) 3 x78 (b) 78 +3 (c)3+78 (d)3-78 (e)78-3

Ralph started Art class with 74 crayons. He lost 19. How many crayons does Ralph end
up with?

(a) 74 + 19 (b) 74 — 19 (€)74%19 (d)19-74  (e&)74+19

Harold has 53 marbles. He gets 16 more from Steve. How many marbles does Harold
have in all?

(a)53-16 (b) 53 x 16 (c)53+16 (d)16+53 ()53 +16
Jenny has $14 and James has $23. How much money does both Jenny and James have?
(a)23-14 (b) 14 x 23 (¢)23+14 (d)16+53 (e) 14 +23

David has 73 books. Peter has 105 books. How many more books does Peter have than
David?

(a) 73 - 105 (b) 73 x 105 (¢)105 -73 (d)105+73 (e) 105+ 73

Mr. Sam has 48 pens to give to 16 students. How many pens will every student receive?
(a)48 = 16 (b) 48 x 16 ()48 —16  (d) 16 48 (e)48+ 16
What is the product of 23 and 14?

(a) 23 x 14 (b) 23+ 14 (c)23+14 (d)23-14 (e) 1423

There were 22 students on the track team. The number of students
doubled. How many students are now on the team?

(a) 2 x 22 (b) 22+2 (c)22 +2 (d)22-2 (€)2-22

Mary and her two friends made 18 cupcakes. They shared the cupcakes equally.
How many will each girl have?

(a) 18 + 2 (b) 18+ 3 €)2+18 (d)18-3 () 18 x3
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